Pre-Calculus  11     Ch. 3  Quadratic Functions.              Name:__________________

Chapter 3  Practice Test
Multiple Choice.     For #1 to #6, choose the best answer.

1. Which function is NOT a quadratic function?
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2. Which quadratic function represents the parabola shown?

[image: image2.png]A y=(x+47+4
B y=(kx—-4)P+4
Cy=(x+47-4
D y=(kx—-4)P—-4
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3. Identify the range for the function y = – 6(x – 6)2 + 6.

[image: image3.png]A lyly<-6,y€R} ¢ lyly<6,yeR
B {y|ly=-6,y€R} D {y|ly=6,yeR




4. Which quadratic function in vertex form is equivalent to y = x2 – 2x – 5?

[image: image4.png]Ay=(kx-27-1 Cy=kx-12-4
B y=kx-2¢-9 D y=kx-1?-6




5. Which graph shows the function y = 1 + ax2 if a < 0?
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6. What conditions on a and q will give the function f (x) = a(x - p)2 + q no x-intercepts?

A   a > 0 and q > 0                             B   a < 0 and q > 0

C   a > 0 and q = 0                             D   a < 0 and q = 0

[image: image6.png]7. Write each quadratic function in vertex form by completing the square.

a) y=x"—18x—27 b) y = 3x* 4+ 36x + 13

) y=—10x* — 40x




[image: image7.png]8. a) For the graph shown, give the coordinates of the vertex, the equation

of the axis of symmetry, the minimum or maximum value, the domain
and range, and the x-intercepts and y-intercept.

b) Determine a quadratic function in vertex form for the graph.
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[image: image8.png]9. a) Identify the transformation(s) on the graph of|

used to graph each function.

i) f(x) = 5x*

iii) f(x) =

(x +11)

ii) f(x) = x* — 20

iv) f(x) =

f(x) = x*

,,xz

that could be




       [image: image9.png]b) For each function in part a), state which of the following would be
different as compared to f(x) = x* as a result of the transformation(s)
involved, and explain why.

i) vertex ii) axis of symmetry iii) range




[image: image10.png]10. Sketch the graph of the function
v = 2(x — 1)* — 8 using transformations,
complete the table.
Vertex
Axis of Symmetry
Direction of Opening
Domain
Range
x-Intercepts

y-Intercept



[image: image1.png]A fx)=20x+1P-7 € f(x) =5x*—20
B f(x) = (x - 3)(2x +5) D fx)=3x—-9)+6




[image: image11.png]11. The first three steps in completing the square below contain one or
more errors.

y=2x*—8x+9
v=2(x2-8x)+9
v=2(x*—8x—64+64) +9

a) Identify and correct the errors.
b) Complete the process to determine the vertex form of the function.

) Verify your correct solution in several different ways.




[image: image12.png]12. The height, h, in metres, of a flare t seconds after it is fired into the
air can be modelled by the function h(t) = —4.9#* + 61.25t.
a) At what height is the flare at its maximum? How many seconds after

being shot does this occur?

b) Verify your solution both with and without technology.




[image: image13.png]13. A stone bridge has the shape of a parabolic arch, as shown. Determine
a quadratic function to represent the shape of the arch if the origin
56 1t

a) is at the top of the opening under the bridge
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b) is on the ground at the midpoint of the opening

¢) is at the base of the bridge on the right side of the opening

d) is on the left side at the top surface of the bridge




